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(1) x(x − 1)(x − 2) = 3 · 2 · 1 ¡ �%Å x = 3 = 1
�Æ)5G DÆE(F 6 ¡HÇ V Å (x − 3) =

x(x − 1)(x − 2) − 6
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x(x − 1)(x − 2) − 6 = (x − 3)(x2 + 2) = 0
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(1 −
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3i)2/(1 +
√

3i) = (1 −
√

3i)3/[1 − (−3)]

= [1 − 3 ×
√

3i + 3 × (−3) − (−3) ×
√

3i]/4

= (1 − 9)/4

= −2
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24/(8 × 9) = 1/3

(4)

A2 − B2 = (a2 + 2ab + b2 − 4ab)/4

= (a − b)2/4 = 0

B2 − C2 = ab − (2ab/(a + b))2

= ab((a + b)2 − 4ab)/(a + b)2

= ab(a − b)2/(a + b)2 = 0

(5) Ô�ÕZÖH× ¡ � ; AC2 = 52 +32 − 2× 5× 3 cos 120◦ = 49 AC > 0
9di M ;

AC = 7

Ø § Ô�Õ5Ö,× - ¡ � ; cosD = (52 + 82 − 72)/(2 × 5 × 8) = 1/2 ¡CÇ V7;
∠D = 60◦

(6) an+1 − an = an − an−1 = · · · · · · = a1 − a0 = 1
9Hi M ;7Ù ` RYÚ F 6

an = a0 +
n

∑

k=1

(ak − ak−1) = n
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~p = (1 − t)~a + t~b � ¥ÐÒ£6
OP⊥AB ¡ �%Å

~p · (~b − ~a) =
{

(1 − t)~a + t~b
}

· (~b − ~a)

= t (~b ·~b) + (1 − 2t)(~a ·~b) − (1 − t) (~a · ~a)

= t
{

(~b ·~b) − 2 (~a ·~b) + (~a · ~a)
}

+ (~a ·~b) − (~a · ~a)

= t |~b − ~a |2 + (~a · (~b − ~a))

= 0
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t = −

~a · (~b − ~a)

|~b − ~a |2
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1

|~b − ~a |2
{

(~b · (~b − ~a))~a − (~a · (~b − ~a))~b
} 6
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(1)
∫
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x(x − a)2 dx =

∫

2

0

(x3 − 2ax2 + a2x) dx

=
[1

4
x4 − 2

3
ax3 +

1

2
a2x2

]2

x=0
= 4 − 16

3
a + 2a2

(2) f(a) = 4 − 16

3
a + 2a2 � ¥ÎÒ%6

f ′(a) = 4a − 16
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Ü�- Å a = 4/3 D5ÛHÄ R �/F 6(¿ N =/Å 0 5 a 5 2
)UÂ�Ã\- E��ÝÅ :Ui1Ì Å f(a) = wjÙ

[ @(D\E\F i M Å a = 4/3 D/¹�¢�Ä�D\E\F 67ËC) Ä�= f(4/3) = 4−64/9+32/9 = 4/9.


